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(1) 2xx4 (2) 4x x (—3y)

(3) (—6a)x5a (4) (—5x)2

(5) 5(2a-3b) (6) 3(2x+1)—4(x—6)
(7) 6 (g) T2 =Y
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B11  (2a+b) x 3a B2  —5x(x —2y)

Q2 ROINZFELESL),

(1) (x+y) x 6x (2) (4a—b) X 3a
(3)  (6a—5b) x (—2b) (4) 5x(2x—1)

(5) 3x(x+2y) (6) —3a(7a+ 8b)
(7) —=2x(—2x+ 3y) (8) (x—2y—-3)x4x

(9) —-3x(3x—4y+2) (10) 2a(-a+2b-1)
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(1) 2xx4
= §X

(3) (-6a)x5a

= =30

(5) 5(2a - 3b)

=E5x2a +5x(-3b)
=)o~ /S b
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I
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=(5xt3) x2

:5X>(2+3x2
=Jox+b
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4x X (=3y)
~12x4

32x +1) - 4(x —6)

= 9x2754’3X|“f‘W¥‘4"{"1’)

=bx +3 -4x+27%
5_67(—4“.1' 3724—
= 212"

2x-y
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3(3xt2d) + 2(2x-%)
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_ /2 X+ 4
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B1  (2a+b)x 3a
= 2ax3a+br30

= 4a*+ 3ab

Q2 ROJZEFHELEEL.
(1) (c+y)x6x

=Qqaxtx+dxEx
= 1297 624

(3) (ba—5b)x(=2b)

= {ax(-2b)+(-5b) % (-2b)

=—|2ab+/0 bt

{8) 3x(x+2y)
=3%xX +3x2x24
= 3% éx g

(7) —=2x(—2x+ 3y)

= (=22) ¥ (-2%) + (-2x)x 34.

= 4 -2l

(9) =3x(3x-4y+12)
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B2 —5x(x—2y)
= =5 x X +(-5%)x(-24)

= - 5%%+ /023

(2) (4a—b)x3a
=4Aax3a+(-p) x3A4
=126~ 34D

(4) 5x(2x-1)
= bax2x+Gax(-1)
=JoX°-5%

{6) —3a(7a+ 8b)

= -3y 70+ (~38) x&b
= - 92| p*-2%4ab

(8) (x—2y—3)x4x

= X xFX+ (-24) »4x+ (-3 xHx
< 447~ §TY-12%

(10) 2a(~a+2b-1)

=(- 32) x 3x+ (-3 (-4])+(-3x)sf = 24x(-4)+24 «2b+2ax(-1)

= -1 +12%Y - 6%

=-2a°+4ab-24



